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T IV VKR At (0. 0005 i) meg/1 FE46ER & 55595133
£7KER 0. 00005 R mg/1 E46ZR & 55595 {152
R T A 0.0003 ki mg/1 JIS K 0102 55. 4

#n 0.001 R meg/1 JIS K 0102 54. 4

ZAY I = I 0.005 i mg/1 JIS K 0102 65.2.5
[0S 0.001 ki mg/1 JIS K 0102 61.4
BTV R (0.1 R mg/1 JIS K 0102 38.3

PCB FHH (0. 0005 i) mg/1 AR468R & 5595 13k4
U= === % 0.001 =K mg/1 JIS K 0125 5.2
FhrSr/unTFLy 0.001  Ki mg/1 JIS K 0125 5.2
A== 3% 0.002 RV mg/1 JIS K 0125 5.2

M kR 3R 0.0002 Kif mg/1 JIS K 0125 5.2
L2-Yr7muxziy 0.0004 ks mg/1 JIS K 0125 5.2
,1-YZunzF Ly 0.01 KV mg/1 JIS K 0125 5.2
L2-YZmozFLy 0.004 ki mg/1 JIS K 0125 5.2
INIES DR A=0= % 0.1 S mg/1 JIS K 0125 5.2
Ll,2-r)smRpxy 0.0006 i mg/1 JIS K 0125 5.2
1,3-Yrunpnruy 0.0002 R mg/1 JIS K 0125 5.2
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FUT A 0.0006 T mg/1 FE465R & 2E595 {155
Y Pl 0.0003 KT mg/1 HE46ER 555595 (1K651
FARHINT 0.002  Kiiii mg/1 HE46ER 5 55595 (15k6%51
A 0.001 i mg/1 JIS K 0125 5.2
Tl 0.001 SRy mg/1 JIS K 0102 67.4
L4V xY 0.005 =R mg/1 R46ER & 55951438
JapTFLy 0.0002 R mg/1 ORAEF105(TFRE2
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